#### COCHIN PORT AUTHORITY

CHIEF ENGINEER'S OFFICE COCHIN-682009

No.T1/Q-08/2024-C Dated:- 13-08-2024

#### **QUOTATION NOTICE**

Quotations on hard copy are invited for "Interior Beautification works at Harbour House" in sealed covers superscribing 'Qtn. No. and Due Date'. Quotations shall reach the undersigned before 2.30 PM on 21-08-2024 and shall be opened at 3.00 pm. on the same day. Schedule of Quantities, General Conditions etc. are enclosed.

**Encl:- Sheets** 

Sd/-DY. CHIEF ENGINEER-I

To

Copy to: The Chief Engineer, CoPA.

- .. The FA&CAO,CoPA
- ,, The Suptdg. Engineer-I, CoPA

.

### **General Conditions**

- 1. Work consists of "Interior Beautification works at Harbour House" as per the schedule of quantities of work.
- 2. The successful bidder shall inspect the site before commencing the work and clarifications if any required can be obtained by contacting the Engineer-in-Charge.
- 3. Period of contract of the work is 10 days from the date of commencement. The work shall be completed in all respects within the period of contract.
- 4. The Engineer-in-Charge of the work shall be Suptdg. Engineer-I.
- 5. The bidder shall have sufficient Experience in Architectural Works/ Interior design works. Documentary evidence in proof of the experience shall be furnished along with the quotation.
- 6. Payments will be made online after deducting the taxes prevailing in force at the time of payment of bills.
- 7. The rate/ percentage quoted shall be <u>excluding Goods & Service Tax (GST)</u>. The bidder shall have valid GST Registration. Documentary evidence for the same shall be furnished along with the quotation.
- 8. The Quotationer shall have valid GST Registration number. GST as applicable for the work will be paid extra by the Port. The GST applicable as per law can be billed on the Port Authority, which will be paid to the Quotationer by the Board along with the bills, for which the Quotationer shall hold valid GST Registration number.
- 9. All labour, skilled or unskilled required for the Interior beautification work shall be provided by the bidder at their own cost.
- 10. All materials required for the beautification of garden shall be supplied by the bidder at their own cost.
- 11. Quotations shall be valid for a period of 60 days from the due date of submission of quotation.
- 12. The work shall be taken up in a professional manner.
- 13. Photo Frames, Planter stands. Pots, Ledges, Boxes, Indoor plants etc. shall be good quality & prior approval from the Engineer-in-charge shall be collected before supplying & providing the items.

SIGNATURE OF QUOTATIONER

# SCHEDULE OF QUANTITIES OF WORK

## Name of Work:- Interior Beautification works at Harbour House.

Sl No:	Description of work	Approx Quantity	Unit in words	Rate (Rupees)	Amount (Rupees)
A	CARPENTARY WORKS IN LIVING				
1a	LEDGES: Providing and fixing ledges by using BWP 710 grade 18 mm thick marine ply and finished with 1mm thick laminate.(3 ledges having 108 cm length)	3.00	Nos.	1150.00	3450.00
1b	LEDGES: Providing and fixing ledges by using BWP 710 grade 18 mm thick marine ply and finished with 1mm thick laminate.(1 ledge having 63 cm)	1.00	Nos.	550.00	550.00
2	PLYWOOD BOX: Providing and fixing box work by using BWP 710 grade 18 mm thick marine ply and finished with 1mm thick laminate. (Size: 30 cm length, 25 cm depth and 140 cm height)	5.00	Sqft	420.00	2100.00
3	DOUBLE THICK PLYWOOD BOX: Providing and fixing double thick box work by using BWP 710 grade 18 mm thick marine ply and finished with 1mm thick laminate. (Size: 128 cm length & 157 cm height)	21.63	Sqft	693.48	14999.97
4	BEAUTIFICATION STAND: Providing and fixing beautification planter stand by using 18 MM thick WPC board of density 0.7 g/cm3 and finished with wooden polish (Base area 60x60cm & height 100 cm)	1.00	Each	6000.00	6000.00
B	INTERIOR DECORATIVE ITEMS				
B1	FOYER				
1	PHOTO FRAME: Providing and fixing photoframes in foyer area (Size 100x65 cm).		Nos.	5000.00	10000.00

B2	LIVING				
1	LARGE POTS: Providing large sized suitable pots for placing plants as shown in 3D	2.00	Nos.	2000.00	4000.00
2	SMALL POTS: Providing small sized suitable pots for placing plants in the beautification stand.	8.00	Nos.	500.00	4000.00
3	INTERIOR PLANTS: Providing original interior decorative plants suitable for small size pots	8.00	Nos.	800.00	6400.00
4	INTERIOR PLANTS: Providing original interior decorative plants suitable for large size pots	2.00	Nos.	3500.00	7000.00
6	CARPET: Providing and laying carpet in living area (Size 150x260 cm)	3.90	M2	6153.00	23996.70
С	FRONT BALCONY AREA				
1	SMALL POTS: Providing small & large sized suitable pots for placing plants in the beautification stand. (Size as per selection)	9.00	Nos.	2000.00	18000.00
2	INTERIOR PLANTS: Providing and fixing natural interior plants for the small and large sized pots. (Total plants: 9 nos, size as per selection)	9.00	Nos.	1666.00	14994.00
D	STAIR AREA				
1	PHOTO FRAMES :Providing and fixing nature friendly photo frame. (65cm width x100 cm height)	1.00	Nos.	8000.00	8000.00
E	UPPER LIVING				
1	BEAUTIFICATION STAND: Providing and fixing beautification planter stand by using 18 MM thick WPC board of density 0.7 g/cm3 and finished with wooden polish (Base area 60x60cm & height 100 cm)	2.00	Nos.	6000.00	12000.00
2	SMALL POTS: Providing small sized suitable pots for placing plants in the beautification stand.	8.00	Nos.	500.00	4000.00
3	LARGE POTS: Providing Large pots in upper living area near to balcony	3.00	Nos.	2000.00	6000.00

INTERIOR PLANTS: Providing and fixing large or small original plants	Nos.	3500.00	10500.00
PHOTO FRAMES: Providing and fixing nature friendly photo frame. (Size 65 x 100 cm)	Nos.	6000.00	18000.00
Total			173990.67

(Rupees One lakhs Seventy Three thousand Nine hundred Ninety and paise Sixty Seven only)

Percentage quoted above / below the departmental rates shown in the above schedule
--

In figures

In words

Signature of Quotationer

Note:- The quotationer shall quote either plus or minus, both in sign and in words, viz., (+) Plus / (-) minus.